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Multiple Solutions to a Math Problem in the Postgraduate Entrance Examination

CUI Jing-jing, ZHAO Si-lin"

(School of Mathematics and Information Science, Neijiang Normal University, Neijiang, Sichuan 641112)

Abstract: Divergent thinking is innovative thinking's main characteristic, one problem with multiple solutions can
cultivate students' divergent thinking ability. Using the improvising differentiation, integration by parts, and
integration by substitution, there are six methods to a math problem in 2018 Postgraduate Entrance Examination. Thus
this paper hopes to lead students to explore problems more deeply and cultivate students' creative thinking ability.
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